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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each,

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

EUS-3T / SECTION-A
A A 19 4 yeE F 1 HF B
Question numbers 1 to 4 carry one mark each

@mwmﬁxh%H%:m@ﬁmmm. 1

Find the nature of the roots of the quadratic equation sﬁxz - ix + i =0.

V22

7z IfE 2o F1 S S IR WHE 1 AIE3 18, & T EIa S B0 AT 2 1
If the ratio of the height of a tower and the length of its shadow is J3:1. Which is the
elevation of the source of light ?

V¥ T I O 9T SO T A % 6 3 % S ) Wi s i 1

Find the probability of getting at least 3 when a die is thrown once.

- 7t fog P A g Q (3, —4) P fram =en Yamve, §w fag W Wi dm A A p ¥ L
i T it )
If the line segment joining the points P and Q (3, —4) is bisected at origin, find the coordinates
of P.
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EUE-H f SECTION-B

TR HE 5 9 10§ WF F 2 AF §
Question numbers 5 to 10 carry two marks each.
5 ot g ¥ i ap ¥ ok A i 10° %1 ol 3 w9 A 2
- The angles of a quadrilateral are in AP, whose common difference is 10°. Find the angles.
N6 kA A T A R T T W 2624 5 -+ k= 0 3 1 AT 7 A 31 2
Find the values of k for which the quadratic equation 2x2+ 5x + k=0 has no real roots.
\/ & ¢ aTRfa § %R O 99 99 W PT ¥ @1 § 991 L TPO=25° 11 x° &1 WM 919 Hifu | 2
T
!/ /
i o\ p

\[./

In the figure, if PT is a tangent to the circle with centre O and #TPO=25° then find the
measure of x°

T
///ﬁ?\\\-
(P~
x /

NS S

}/ﬁﬂﬁaﬁ@uﬁnmﬁwmwmaﬁwﬁq@ stqaa H fawfe w5 % T ferar 2
GG
State the theorem of triangles, which is used for dividing a line segment in a given ratio.
'/aﬁmﬁ,PQﬁﬁﬁWﬁi’@%I PQ=8 cm TMOQ=6 cm & T PS &I WY 7 HITwT | 2
Q
//7\
In the given figure, PQ is a tangent to the circle. PQ=8 cm and OQ =6 cm. Find the length of
PS.
Q
o5 d
W10~ 1 8 con I U 9 % Fieia WA 1w A 7 7 e 9 e 2
Find the area of the square that can be inscribed in a circde of radius
8 cm.
WUE-H / SECTION-C
WY HEA 119 20 § YA #1 3 37F 71
Question numbers 11.to 20 carry three marks each.
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\}J/AP:9,4,—1,...%uwaluz‘ian"rwsmaﬂﬁm 3
Find the sum of the first 31 terms of the AP: 9,4, —1, ...
\/ﬂ/ TEEm T 252 — 6x +3=0 % TEll &1 WEla 90 Ffqw) afE qm gratas &, 9 9@ Fiew 3
Find the nature of the roots of the quadratic equation 2 —6x+3=0. Ifthe roots are real, find them.
T T 6 em FTE 99 WY FE @ S I g8 UF Y1 F Y 30° F B0 9, 99 H w3
w3t @

Draw a circle of radius 6 cm. Construct a tangent to this circle making an angle of 30° with the line
passing through the centre.

\/4/ I3 HR U Hfoe T W @I R 901 W W UF tA0EE AN EA & AR H 70 WA FI g WA 3
R feuq foig @ wh e e 3 € F1 eavee & v o snaR & SeE S Ew : e0° 3R ase ¥
YESEE Y AT 9d HHAR i 4R Fd S0
A tower stands on a horizontal plane and is surmounted by a flag-staff. At a point on the plane, 70

metres away from the tower, an observer notices that the angles of elevation of the top and the
bottom of the flag-staff are respectively 60° and 45°. Find the height of the flag-staff and that of the

tower.

A5 & st el T s Ao 1%. 2.3 3 ¢ ¥
(@) TR G Fifere fk 7E HEm 9w T ¥ S L
(by  wifaskd A Ffs 6 =2 g faam fafya e ¥ 2% U L 3
(c)  wifaehal St Wit o =g W 3 @ fafer emii | . RS
Sum of digits of a 2 digit number is 9: 1 J?/ ol |
(a) Find the probability that such a number is not even. 5 9 g
(b) Find the probability that such a number is odd composite number. e

(c) Find the probability that such a number is divisible by 3.

16 fereit foregst < ¥t A (3, V3), B(3, — V/3) 3iT Clo, 0) ¥ 1 F6HI IHETH 31 Hifsre | 3
The vertices of a triangle are A(3, ﬁ), B(3, = Jg) and C(0, 0). Find its perimeter.

17 Tergsil A(4, — 7) 3T B(— 3, 2) 1 fire o2t @ W feora we faig p o Fowis 9@ st afs as . 3
AP=7:47FI

Find the coordinates of a point P on the line segment joining the points A(4,—7) and B (—3, 2) such
that AB: AP=7:4.
18 S -feaE F Uk FARR 29T F IHG YN F R 96 § FEHE S0 90 F1 fads &1 78 3

2 & wAm AR o w1 39 T A B aw e fwa T WE % % JEE SEEd @ %%I
T G Wi T e I i S e T el 1 S 9 i

A birthday conical cap is cut by a plane parallel to its base and the upper part is used as a new
cap for a toy. The curved surface area of this new cap is %of the curved surface area of the

whole cone. Find the ratio of the line segments into which the cone’s altitude is divided by
the plane.

19 i it gl 4, ferenfefali % fore s g &g o o R, S % weeER 32 # e &, o 3
Yo <2 W A1 12 m & 91 W < F RIS Hor 16 & ford 2 m =Sl UF TR § ) 9 9
2z % SR fem § v o 3 ¥, fomet fmd 1.4 km x 200 m €, @ 9 #ew # fe dzem
TR 2 (7 = 2 i ) |

In summer vacations, a summer camp is organised for students where they stay in conical tents of
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radius 12 m. Each tent has 2 m wide path around it for movement. If the land where these tents are

erected is a rectangular field of dimensions 1.4 km x 200 m, how many tents are possible in this field
?

(Use 7 = %]
20 G 2.1 om B TR g F 17 5 om B @R 7 om ST 9 SR A% U @ R SRR Y 3
SR S, A AEHER HY G e g 1 s
If a metallic ball of radius 2.1 cm is put into a cylindrical cup full of water of radius 5 cm and
height 7 cm, then how much water is remaining in the cylindrical cup?
TUS-g / SECTION-D
9 HET 21 9 31 F YAF & 4 57 T

Question numbers 21 to 31 carry four marks each.

21 Elcleaic 4
(4— -3;] + [7— %) + (10— %)+....nq€fa$|

Find :

(4_ l) = (7_ EJ + [10— EJ+_._.uptcmterms.
n n n

22 fot fi st w1 E AR o R RS A 3 S %aﬁqﬂﬁz‘:m‘r%l 4
oz fim 3w s

The numerator of a fraction is 1 less than the denominator. If 3 is added to each of the

. Find the fraction.

numerator and demoninator, the fraction is increased by %

23 Tk TS & =R F A A #) 3l ved EF Foil @ A, S @ g 2 @ wsh w4
Bl
The four angles of a quadrilateral form an AP. If the sum of the first three angles is twice the fourth
angle, then find all the angles.

24 UF el fdg p &, F% 0 9 9 W A i Ywnd pa 3l pg Wi W ¥ ufz a1 ag I mem-foig ¢ 4
2, 1 fag Ffom & pe, 99 & ¥7 0 ¥ IRAT R
Froam an external point P, two tangents PA and PB are drawn to the circle with centre Q. If C is the
mid-point of chord AB, prove that PC passes through the centre O of the circle.

25 amaﬁAB::zcm,Bc=5cmafmc=7cmé?qa?ﬁaamc\§ﬁwmﬁﬁm AABC ¥ FRT TH UH 4

ﬁf%ﬁaﬁmmﬁ?mﬁmwmmﬁmﬁmﬁgﬁn
Construct a AABC of sides AB=4 cm, BC=5 cm and AC=7 c¢m. Construct another triangle similar to
AABC such that each of its sides is ; of the corresponding side of AABC.

26 u fasell & T H sm F 39 A @ W e fase @ wweh @ a8 moad 4
F1HA & o7 38 @ F ¥ B 1.3 m AR w i o R 3w D 9 o @ e
formal it & 60° % Fm1 W g g€ W W = difed M % e Sy Wy € 9w 9 9
i, o e gt  Frerdt FoRt ) @9 & e @ ot gt o

An electrician has to repair an electric fault on a pole of height 5 m. He needs to reach a point 1.3 m
below the top of the pole to undertake the repair work. What should be the length of the ladder that
he should use which, when inclined at an angle of 60° with the ground, would enable him to reach the
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required position ? Also, finc how far from the foot of the pole should he place the:foot of the ladder.

27 =31 TR B et g 52 Al 6 v g H 4 vw w12 e w9 § feen o §) e s a4

FIA FI AT T HIAC 2

(A) @ T H AR (8) TFHFEHE

(C) UF o Y FE (D) I A

One card is drawn at random from a well-shuffled deck of 52 cards. Find the probability of getting
(A) a king of red colour. (B) a face card.

Q) ared face card. (D) the jack of hearts

28 AABCH, D, E 3 F AW el AB, AC &K BC % wea-foig ¥ afz 39 fyw & i Af0, —1), B2, 1) 4
3R C(0, 3) €, T ADEF &1 EFwT I FIFTT | T &, 9% of TwiEe fH
DE= % (BCO) T
In AABC, D, E and F are the mid-points of the sides AB, AC and BC respectively. If the coordinates of
the vertices of the triangle are A(0, — 1), B{2, 1) and C(0, 3), then find the area of ADEF. Also, show
that DE = % (BC).

29 et S o a1 Al 9T 400 m ¥ T WY WM F AEE 90 m ® 9 TE I A 4
Fugd €1 4t 9% 7Y TOE TE W 1.4 m =99 §, T 99 51 S T60 FAC (1 = % Ealepiul

Fifw)

The inside perimeter of a running track is 400 m. The length of each of the straight portion is 90 m and
the two ends are semi-circles. If the track is every where 1.4 m wide, find the area of the track. (Use
22

= —)

7
30 Torelt Wi <1 SUk YR F i T T GRI HI S € 71 TR 9 1 g2 fem e €1 afe 9w 4
T 1 I YIG GAE W0 WE F TH JEd GAhd H % g 0 9w g v F = fom
mrEl § fawfea 21 & s o 3 ife)
A cone is cut by a plane parallel to its base and upper part is removed. If the curved surface

15
area of the remainder is 16 of the curved surface area of the whole cone, find the ratio of the

line-segments into which the cone’s height is divided by the plane.

31 TH T4 A 50 cm ST AT AR I W T TS’ HHEt S S9A Yol ®H W5 om B 4
A g HT UH QU TN S W= F 10 cm ST SN F9 A, 91 R aRpfa F gwian
Dl T F1 G T I | A S HA WA EA F @ R? (m=3.24 F T
CAELY)

A child prepares a poster on “SAVE ENERGY” on a square sheet whose each side measures 50 cm. At
each corner, she draws a quadrant of a circle of radius 5 ¢cm and at the middle, a circle of diameter 10

Page 5of 6

http://jsuniltutorial.weebly.com/



¢m as shown in the figure. Find the area of the shaded portion. Wkat value is depicted by the child ?
(Use w=3.14)
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